
Parts List

DESCRIPTIONPART NUMBERQTYITEM

Small Hitch Kit RecieverSMHKREC11

Small Hitch Kit ExtensionSMHKEXT12

Multi Bracket (Universal)DTMB23

Multi Bracket Top PlateDTMB-TP24

3/8 Flat Washer6986000825

3/8-16 Nylok Nut6986007526

Parts List

DESCRIPTIONPART NUMBERQTYITEM

3/8-16 X 3.0" LG Square Neck Carriage Bolt6986000767

3/8-16 Flanged Nut69730014128

3/8-16 X 4.0" LG Square Neck Carriage Bolt69860007.489

3/8-16 X1" LG Bolt3816-1110

D'ttach HitchDTH01111

D'ttach Hitch Back PlateDTHBP112

5/8 Hitch Pin w/ Cotter Pin69860002113

Fixed Deck Left BracketDTFD#1114

Fixed Deck Right BracketDTFD#2115

V Ride 1 Right BracketDTVR1#3116

V Ride 1 Left BracketDTVR1#4117

36" & 42" Wright Stander BracketDTWRI3642#5118

Hitch Small Kit Assy 

J.C.B

NOTE: Part Number DTHSM-KIT Telescopic Cross Bar Span 20-26 inches between castor wheels - Includes all parts below. 

REVISION HISTORY

REV DATE

B

9/28/2019

9

8

2

6

5

14

15

17

16

3

7

11

1

12

8

10

4

7

13

18


